20 DAYS SUCCESS FORMUAL 2024

COMPUTER 11

ODbjective Type

1 Which of the following is an absolute address ? — _-'_:
[~ | Noiex, f trie
(A) Al (B) ALS (€) asae o [l | lahoye
2 | CALstands for. ' . ' - '
Computer Assisted Corfipliter aitied < .'.:— _'Ecﬁw,;tﬁe"_/eja._e—d— Computer
(A) Learning - @ _segrning || _‘“LL " Liaraing | (B) Affected Learning
3 | Which one is fastiz ?| — ___.__'_'___.' j
(A) RAM ____: ﬂL Gache—"" T (€) Register (D) Hard disk
4 The Ign_g*_h_gﬂlil_lad dressis
(At ] [ i T | 16 - bits @ | 32 - bits (D) 64 - bits
| ___rlj_ i[‘aiﬁ Communication requires only.
[ (Kj Sender ‘ (B) ‘ Transmission Medium ‘ (C) ‘ Receiver m All of these
6 As compared to command line operating system, a GUIl operating system is .
More
(A) More difficult @ Easier to use (C) More reliable (D) complicated
7 The layer of OSI model that establishes connection of user , maintains it and terminates it .
(A) Presentation ‘ (B) ‘ Application ‘ (C) ‘ Transport ‘ m ‘ Session
8 The address of instruction under the process of execution is contain within :
m Program Counter (8) Current Ihstruction (©) MemorY Address (D) Memor.y Buffer
register register register
9 The function that is used to get the minimum value is MS - Excel is called .
(A) MAX 3| MIN | () | MINIMUM | (D) |  SMALLEST
10 | Which is an automatic Programmable machine?
(A) CAD | (8) | CAM | () | ATM ol ROBOT
11 | Which register holds the address of the next instruction to be fetched for execution?
n PC | (8) | MAR | (0) | IR | (D) | MBR
12 | Security protection for personal computer include :
(A) | Internal components ‘ (B) ‘ Locks and cables ‘ (C) ‘ Software ‘ m ‘ All of these
13 | Which of the following is related to business ?
(A) Marketing ‘ (B) ‘ Stock Exchange ‘ (C) ‘ Banks ‘ @ All of these _ 7
14 | Software to pursue the internet is called . el =3 __ AL
(A) Gateway ‘ @ ‘ Browser ‘ (€) EE=5 % || _(le_ ]' ele cfm* arente”
15 | Window explorer acts as . — \ | } ___-' A _ ALY AN _| A
ﬂ Directory Browser ‘ (B) ‘ " Vo_d_Ed_l'rg‘“_ _ _|_{Q l B _C'WE’J_'IE [Zasw_ | (D) Image viewer
16 | Data processmgls sizo knownac.. | | \ '
(A) Accuracy._ | _"-|_-('£)’_]E_v___ Spe @dl —I— Fnil Computing (D) Merging
17 | Which of the following k eybi a_r'l_'fhc rteuts is used to change the case?
(A) ccmdi3 | \\] W] = F7 ol shift+F3 | (D) |  Alt+F3
T L‘uc.rdl.ll ;40 ti< estimation , more than 90 percent of all personal computers have a ____ processor
_-_'J_L_h_l__ insiallea
] (K] Spreadsheet ‘ @ ‘ Word ‘ (C) ‘ Image ’ (D) Video
19 Electric path used to transfer data is called .
(A) a(r:cohrirjczlcj'fj:e @ Computer Bus (C) o(r:;amoz:i?orn (D) None of these
20 | The number of times a wave repeats during a specific time interval is called .
(A) Pulse ‘ (B) ‘ Amplitude ‘ ‘ Frequency ‘ (D) ‘ Oscillation
21 | Which Software is used to solve everyday person or business tasks .
(A) Opening System ‘ @ ‘ Application Software ‘ (C) ‘ System Software ‘ (D) ‘ Device Drive
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22 | Which of the following is not a type of Bus ?
(A) Control Bus (B) ‘ Data Bus ‘ (C) ‘ Address Bus ‘ @ Information Bus
23 A collection of raw fact and figure is called .
m Data ‘ (B) ‘ Information ‘ (C) ‘ Processing (D) Procedui e 7
24 | Software to Browse internet is . —_[T]% _'— _' AN AR]
(A) Gateway ‘ (B) ‘ Bridge ‘ﬂl e _Tg\iﬁé'_r_. | (J)f| T 2En L,T‘crencmg
25 Computer Based Weather forcasting '!epends fn accuraie, gll_ectm_m_c,f_ca_m from.
(A) Weather stations ‘ (B) ‘ i e_Ivy'iCi ) __li’l)_|_ _ Pacar— | | (D) ‘ Antema
26 | Which one hardig: p. ]gcncsu. S:Oﬂ*rjﬂliltﬂlg‘l_\:lih pe-mherals ?
" AiU_ ___iiBi N o | ) /O Unit (D) IntercoB:r?ection
27 | Thewoftvie e which iztsed to control all parts of manufacturing process is called .

SN A ] MICR @ | CAM | (D) | ATM

Wl wews server use protocol to transfer articles among them .
| NNTP | (8) | ARCnet | () | MIME | (D) FTP

29 | The secret word used for data protection is .
(A) Biocham ‘ (B) ‘ Backup ‘ (C) Password (D) PC
30 | Which onein not avirus?
(A) Trojan Horse ‘ (B) ‘ Logic bomb ‘ (C) McAfee (D) Redlof
31 | Windows operating system was developed by .
(A) Sun system ‘ @ ‘ Microsoft ‘ (C) ‘ Hewlett ‘ (D) JAVA
32 | Absolute reference are created by adding .
(A) # sign [ (8) | % sign [ (@ | @ sign o) $ sign

33 | Testing all program components together is called .

(A) Volume testing ‘ @ ‘ System testing ‘ (C) ‘ Group testing | (D) ‘ Composite testing

34 | The modem's data transfer rate is measured is.
(A) Kbps 3| Mbps | () | MBPS | (D) GBP's
35 | Making illegal copies of Software is called .

(A) Browsing ‘ (B) ‘ Software threat ‘ (C) ‘ Software piracy (D) Collaboration
36 | Software to use the internet is called .
(A) Gateway ‘ @ ‘ Browser ‘ (C) ‘ EFT (D) Tele conference
37 | The cell range from A3 to G3 should be written as . T
(A) A3-G3 l=l A3:G3 | (©) | A3; G3 Loy |
38 | A collection of related worksheets form a. | 1| AR .
(A) Website ‘ @ ‘ Workbook Ky ‘ (_C d!-_'__'_\l_'ord ‘\rt_ t —[ (')) . P _Spreadsheet
39 | Computer based weather forecastlng_ igpglf‘,_op ‘aceyrat @ Eﬂll_eg cin_ef_t-laﬂro_r“l
(A) Television__ . _m ‘ _ AMeathe her st 3tmnv [\ (t_)T __~~Radar ) (D) Antenna
40 | MANstandsfér. | | () LSRN "
A T r’!"Lropolltan Market Area Manufactured

m Metropolitan Areq | |\
CHetwolk

(€ (D) | Arrangement of

Network Networks

! ‘ 'Arranged Networks
N _J. TR ) I P A |

__ ___E 'w:]h h L;us allows the processor to communicate with peripheral device ?
(& System Bus ‘ @ ‘ Expansion Bus ‘ (C) ‘ Data bus (D) Control bus

42 Windows explorer is used to :

Explorer svstem Perform Navigate file and
(A) Access the Internet | (B) P ¥ (C) | maintenance on the @ folders on the
resources )
hard disk computer
43 | The process of producing multiple copies of a document is called.
(A) Word processing ‘ (B) ‘ Image processing ‘ (C) ‘ Spread sheets ‘ @ ‘ Reprographics

44 | Which of the following is an absolute address?
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@ Al | (8) | SAl | (c) AS| (D) SAS|
45 OSI model was created by .

o IS0 | (8) | ANS| | (c) IBM (D) NESPAK
46 Digital signals are commonly called as . _ et 8
(A) Broadband ‘ @ ‘ Base Band ‘ (C) ‘ Narrow band. ] [iD} FE% 2ricy
47 | ____ is not a biometric technique. ) 1 _'_' -'__ @

ﬂ Badge ‘ (B) ‘ —Retina ! -(C)__'__- A\ Facel v | (D) i ' Palm Print
48 | The specialty of spreadsheet software is ﬂ‘l.*ﬂ’_w' hi 44\ L \

(A) Words | \| B “\Nuribées |\ [ @ — Ccells | (D) | Text

49 | Windows operiti: & sysier wa: aevaioped.by N

(A) Sun_syziem __1!1'!] T iviicrosoft ‘ (C) ‘ Hewlett | (D) ‘ JAVA
|50 ! Sthichafitie f<llowing media cannot be used as backup ?

Ir '(_tb.j_ 11 Hedd Disk | (8) | Floppy Disk | @ | RAM | (D) | ZIP disk

I 52 Which one of the following is not a cause of virus ?

(A) Pirated software ‘ (B) ‘ Network ‘ (C) ‘ Email ’ m ‘ Logic Bomb
52 | The component of computer that executes the instruction is called .

o CPU | (8) | CacheUnit | (€) | RAM | (D) | Mother Board

53 Which program is used to connect to a remote computer or internet ?
(a) | WWW(Wworldwide | o FTP () E.mail (D) Telnet
Web
54 Internet connects one computer from another by .
(A) Architecture ‘ (B) ‘ Manufacture ‘ ‘ IP address | (D) ‘ Brand Name
55 Freely distributed Software without violating copy - right laws are called.
(A) Share wave ‘ (B) ‘ Copy protected ‘ (C) ‘ Public Domain @ None of these
56 | The size of segment register is.
(A) 1 byte (B) 4 bytes (C) 2 bytes (D) 8 bytes
57 PTCLis a.
(A) Internet @ ISP (C) Web browser (D) Search engine
58 | Two different network can be joined by .
Network interface

Jm Gateway (B) Bridge (C) Card (D) Cables

59 Project 802 defines standards for which layers of the OSI model?
Application and Physical and Data Transport and ! Network-arid | X L

(A) presentation layers @ Link layers (C) Network I"ﬂ/eﬁ._i fn, ! Da_t(_rmk_lilr; L
60 | The layer that is responsible for flow controlis callecl. |, | _'_ BN C -
(A) Application ‘ (B) ‘ Sassion'_J €)Y __Fhyical | __'E + Transport
61 is not kind of register _H___' __" _ Ay Yo B L
(A) Flag ; L (R). ] —~ gh&_t_ __ ‘jﬂl ~Math processor (D) Accumulator
62 Modern Compuiter lar pel form calc ltatlm s.57 proceés
(A) Per Serx m_'-__I(l) T * 'Fer minute ‘ . ‘ Nino second ’ (D) ‘ None of these
63 ) & nsht iz are aucomatic programmable machine.

IR RN [ (B) | CAM (c) CBT (D) ROBOT

“'le4 | DSL stands for.

(A) Domain Server Link ‘ @ ‘ Digital Subscriber Link | (C) | Direct Server Lease | (D) | Digital server Line
65 | The intersection of a row and a column is called .
(A) Intersection ‘ @ ‘ Cell ‘ (€) ‘ Field ‘ (D) ‘ Address
66 | A network that places all nodes on a single cable is called .
(A) Star ‘ (B) ‘ Mesh ‘ (C) ‘ Ring ‘ @ ‘ Bus
67 | Which Memory is used to speed up the computer processing ?

n Cache | (8) | ROM | (©) | BIOS | (D) | FRAM
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68 contains permanents IP address .

(A) Client ‘ @ ‘ Server ‘ (C) ‘ User (D) Nic

69 | The formula can only be applied on.

m Values ‘ (B) ‘ Labels ‘ (C) ‘ Unmerged cells (D_)__ Title— |
70 List of documents waiting to be printed on printer is called. | ” AW FAR]
(A) Print List ‘ @ ‘ Print queue ‘-(L)l ___|m5ro_c‘<_ | (J) | - n:mne

71 Software that is used to detect and ramove! tke vizus forin the ccmptter i, called .

(A) Pirated software | [ AEQ/LU_'_ __I_(’Z)__|___P _\?r'; = (D) Trojan Horse
72 is nota kind nf‘c,_.sier__'_'i_-__"_ - '
: ) | Math-Co-

(A) Flag ___i[il Al / P'*umulatlon ‘ (C) Segment (D) Processor
73 _"jgg*_rglg‘__'_r_pfl_mmm data to move only own way at a time is called.

] '(_lpl_l Vi J Half Daplex ‘ (B) ‘ Full Duplex ‘ . ‘ Simplex | (D) ‘ Start/Stop

'l 7he operating system based on NT technology is
(A) Windows95 | (B) | Windows97 | (€) |  Windows 98 B | Windows 2000
75 Unicode is a bit code.
(A) 16 | (8) | 32 | () | 64 (D) 8
76 | The physical layout of network is known as .
Jm Topology ‘ (B) ‘ Session ‘ (C) ‘ Link ‘ (D) Style

77 | The right of person to keep his information away from others is called.
(A) Secrecy ‘ @ ‘ Privacy (C) Right (D) Private
78 | The order of stack is .
(A) FIFO Isl LIFO () GIGO (D) FIGO
79 A Kilobyte is exactly equal to
(A) 1 bytes ‘ (B) ‘ 100 bytes ‘ (C) ‘ 256 bytes @ 1024 bytes
80 An online area, where users write discussions about a particular subject is called .
(A) Email ‘ (B) ‘ FTP ‘ ‘ Newsgroup | (D) Protocol
81 Important property of fiber optic cable is .
(A) Noise ‘ @ ‘ Refraction ‘ (C) ‘ Interference | (D) Attenuation
82 | The communication channel can be divided into .
(A) Five types ‘ (B) ‘ Four types ‘ (C) ‘ Three types ‘ @ ‘ Two types
83 | Which shortcut key for making the character bold? T
(A) Alt +B | (8) | Shift + B o | Ctrl +B Loy, AmE

84 | Theright to use the software are on the computer is called

Intellectual propart N T oftw
(A) Software piracy (B) nefiec rl:;htr:)m_f'r Y ‘ E S)flmar_xI:eunse | (3 i :cc))pyv;/iagﬁ
85 As compared to command I|ne ober: !tIC.)_r_S\ﬂlm'_a uUW o wraunc cystem s :
(A) More effici =nT LH ~ Edsler o b&e B (cy More reliable ’ (D) ‘ All of the above

86 Who is respons blu ‘or s=cunty af orlme data?

(A) Al - Jil':g_r_ L ‘ Internet service (C) | LAN administrator | (D) obgzﬁfnnglzta;:eo;ata
j X |W“u h ¢4 the foIIowmg is not an example of system software ?

SR Operating system (B) ‘ Drivers ‘ (C) ‘ Utility program ’ @ Microsoft office
88 | A collection of related worksheets form a.
(A) Website ‘ (B) ‘ WordArt ‘ ‘ Workbook ‘ (D) Spread sheet
89 | Acell at second column and 15th row has a cell reference .
(A) 15A | (8) | 158 | B15 (D) Al5
96 | Hardware is best described as .
(A) Program ‘ @ ‘ Physical parts ‘ (C) ‘ Procedure (D) Hard copy

97 | The Media Access Control sub layer resides in which layer?
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(A) Physical ‘ @ ‘ Data link ‘ (C) ‘ Network ‘ (D) ‘ Transport

98 | Which one is an example of use of computer in education?

(A) CAM | (8) | CAD @ | CAL (D) CEL

110 | Extra segment register deals with . _ . -_-___._" B
(A) Stock Data ‘ (B) ‘ I/O Units (C) Mathematical data _dri"_'— RCHE ms. '
111 | CU stands for. ) Ty __-_;i _4 | | : B ‘

Jm Control unit ‘ (B) ‘ Czache urit C) 1By EL) LlaunL u1|t _ | (D} i Com unit
112 | Which of the following is used to flr.cl infsrea. 1tm|| a 1_wo_|.|t_'l vw"e v'e b* Lt
(A) Web browser, Uﬂ‘ l _&a_ c_hieﬁﬂa_" Sl (("-_‘ . . Website | (D) Web server
115 | The insertion pi{in’ n & Hot um_ent is called: .

(A) Mousz | __1(3) T Cusor ‘ ‘ End marks (D) Erasor
117 . v_ag,_L_.y ks pravida die facility of .
) N SIRNREVS | (8) | CAM | @ | ATM (D) CBT

[' 1125 | In MS Word , the data that is being copied or moved is.

Temporarily stored in Permanently stored Temporarily stored Permane.ntly
(A) Recycle bin (8) in Recycle bin (C) in Clipboard (D) st‘ored n

Clipboard

121 | Which of the following techniques uses modulation ?
(A) Baseband ‘ @ ‘ Broadband ‘ (C) ‘ Bandwidth (D) Topology
122 | Animportant characteristic of RAM is .
(A) Read Only ‘ (B) ‘ Write Only ‘ (C) ‘ Not Volatile m Volatile
123 | Transmission from satellite to its earth-based station is called .
m Down-link ‘ (B) ‘ Uplink ‘ (C) ‘ Gateways | (D) ‘ Ring network
127 | Header and footer option can be used from which menu ?
(A) Tools ‘ (B) ‘ Insert ‘ (C) ‘ Edit @ View
128 | Which shortcut key for paste is .
(A) Ctrl +C I=l CTRL +V | (0) | Ctrl + A (D) Ctrl + P
130 | The extension of an executable file is .
(A) Xls ‘ (B) ‘ .doc ‘ (C) ‘ .ext @ .exe
131 | Shortcut key to save a file in MS Word is.

@ Ctrl +5 | (8) | Ctrl +F | () | Alt +S | (D) Alt + F
132 | Small images representing program file etc is called . s
(A) Menu ‘ (B) ‘ GUI ‘ (C) ‘ Command |_@_i_-_.____.!-;;_r_1 __ |
133 | The default orientation for printing is. _ — ___+: LY

M) Portrait ‘ (B) ‘ Vertical - ‘ ' (E'_|__ '_gﬁﬁl&"_- 1) f"_a lorizontal
134 | The Process of transferring a file fruria_renj_c_n_*‘* E("EEIET tga_r@]ltﬁrmpuner 15 ¢alled .

(A) Uploading J_@ ‘ Dcowrlbaairig '-_._L-,(!")_T; SarverSharing ’ (D) ‘ Down Razing
135 | The bar that C mka ns the na_rﬂ _ﬂf_pt_')ﬂ‘gm r‘d dGzumént is.
(A) Menu bari 11 tB)—L _'-_ ratus bar . ‘ Title bar ‘ (D) ‘ Tool bar
136 | Microwgveltanim! s ol n) e axial cables, and fiber optics are example of :
—'(f)'-'jr- __I:.‘Tfliéch_ = T @ ‘ Communications links ‘ (C) ‘ Gateways ‘ (D) ‘ Ring network
) .I_'g._.'_i'_-_ Tihe-orain of computer that executes the instruction is called .
lﬂ CPU ‘ (B) ‘ RAM ‘ (C) ‘ Motherboard ‘ (D) ‘ System unit
138 | Many networks includes a central computer that may be called.

ﬂ Server ‘ (B) ‘ Bridge ‘ (C) ‘ Gateway (D) Client
139 | The output of the compiler is called .

(A) The program ‘ (B) ‘ Source code ‘ (C) ‘ Linked code @ Object code
140 | The vertical dimension of spread sheet is called.
Jm Field ‘ (B) ‘ Row ‘ (C) ‘ Record ‘ (D) ‘ Column
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141 | BIT stands for.
(A) Binary integer ‘ @ ‘ Binary digit (C) Binary internval (D) None of these
142 | Which one is a signal ?
(A) I/0 ‘ (B) ‘ DMA (C) Interrupt (D)L Memeiy~ |
143 | Which of the following is a correct column address? — =\ (N _._ AR
(a) AA @] 5 ] o onNog o
144 | Internet explorer is used to . | _ o
‘ \ _ ' h|__f \BRR=NE Navigate file and
- | Perforin ‘ 4\ “—Explorer system folder on
Jm Access the intes: *n_ B maintendiic ce’l task) TC) | resources (D) computer

System requireinenss zri2 cre. 1t_ed dutisg .
' Development
investigation

ADBIYSIS~ 1L T‘(B)‘ Preliminary (C) Design (D)

The-neig'ht of wave within a given period of time is known as .

(A) Frequency ‘ [E ‘ Amplitude ‘ (C) ‘ Oscillation | (D) ‘ Pulse
147 | The Term that refers to all input , output and secondary storage devices .

Jm Peripheral ‘ (B) ‘ Central ‘ (C) ‘ Attached ‘ (D) ‘ Network
148 | Typically cladding has diameter of microns .
(A) 120 | (8) | 122 | (0) | 124 (D) 125
149 | Analog signals are measured in .
(A) Hearty ‘ @ ‘ Volt ‘ (C) ‘ Digit (D) Watts
150 | Add new hardware option exists in .
(A) Main menu ‘ (B) ‘ Status bar ‘ (C) ‘ Task bar m Control Panel
151 | The use of has made a very vital impact on the society .
(A) Banks ‘ @ ‘ Computers ‘ (C) ‘ Departmental stores | (D) ‘ All of these
152 | The symbol that separates different parts of an e - mail address is .
(A) S [ 8) | # | @ (D) A
153 | Memory is made up of .
(A) Set of wires ‘ (B) ‘ Set of circuits ‘ Cells (D) BIOS
154 | In EBCDIC, How many bits to represent characters are used?
(A) 2 | (8) | 4 | (0) | 6 Hio) 8
155 | Which of the following is a spreadsheet ?
(A) MS Word ‘ (B) ‘ MS Excel ‘ (C) ‘ MS Power Point ‘ (D). BothaSw, __
156 | A program that disturbs / interferes with the working of a computer syster is callgd-” ) Voo __
(A) Bacteria ‘ (B) ‘ Anti - virus_ ‘ [@U ) __ﬂr'_ AR T { J) & 1 Wreeware
157 | Window is the most popular productof. ...{_ Bl _-_;'_-'_._'_ B

ﬂ Microsoft ‘ (B) ‘ Sun »y>t( n ) N (' ) AN | (D) Hewlett
158 | The process of trc,r sfe ring det?_fgn_ gn_e lace! tlcr. to a' 0 her is called .
(A) Data processing| | | ﬁL Data co Data computing ’ (D) | Datasequencing
159 | The extensiu mﬂal_ﬂxuu.ltt_*an'e fiie is.

i (_A\ AN _|.; '-_|_'x_'l‘:_ ¢ [ (B) doe ‘ (€) ‘ ext @ exe

__ I EI i\ 'Fo ‘niula'can only be applied on :

y None of the

ﬂ Values (B) Labels (C) Unmerged cells (D) above
161 | Which component is responsible for comparing the contents of two piece of data ?

Jm ALU ‘ (B) ‘ Control unit ‘ (C) ‘ Memory ‘ (D) ‘ None

The process of sharing information among various members of workgroup through computer network is

162 | called.
(A) Groupware (B) Cslolfnb;)ur;:\g/e (C) \évo(i:;gurg:g @ BothB & C

W
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163 | Any change to the document can be reversed using option.
(A) Redo ‘ @ ‘ Undo ‘ (C) ‘ Do ‘ (D) ‘ Again do
164 | Which of the following feature enables you to reverse the change you have made to the document?
(A) wyswyg | (B) | Redo @ | Undo o) | GuUL—. [
165 | The process of touching an object with mouse pointer is called . — e V(] ) A"
(A) Pushing ‘ (B) ‘ Dropping ‘ ((.)l ___D:_qgilr{_g,_._j'ﬂi '*;Llng
166 | Hardware components that permanently hc¢ld data-2ud i o_grins is called’, ™ :
(A) Primary storage ‘ (B) ‘ Temg cla_r‘_s_c'rﬂg__hit J Snd any stura—gf- (D) ‘ CPU
167 is a pregram u])_r enter! nz _cg(:ggt._ﬂg_ EEDIpu'I"fl g and analyzing sets of numbers .
(A) Word proces! or i 8)! \Teéx: editor (C) Siffia/sahrzet (D) Word Art
168 | The ar) E'jj_(grltiw_m: the namgof program and document is .
] '(_lpl_l Vi J Mehtbar ‘ (8) ‘ Title bar ‘ (€) ‘ Status bar | (D) ‘ Tool bar
[ 15¢ | “which of the following function is used to get current data is MS Excel.
. (A) Month ‘ (B) ‘ Year ‘ ‘ Today | (D) ‘ Exact
170 | Which of the following type of data is used to displaying action and movement ?
(A) Audio ‘ [E ‘ Video ‘ (C) ‘ Image | (D) ‘ Text
171 | The printer which can print one complete line at a time is.
(A) Dot matrix printer ‘ (B) ‘ Daisy wheel printer ‘ (C) ‘ Laser printer ‘ m ‘ Line printer
172 | Modern computers can perform or process at .
Jm Per nano second ‘ (B) ‘ Analog ‘ (C) ‘ Per micro second (D) None of these
173 | The actual working area in MS Excel is.
(A) Work Book ‘ (B) ‘ Spread Sheet ‘ ‘ Work Sheet (D) Clip Board
174 | Data is transmitter block by block in .
B | remson || enemison | (€1 | Digtal Transmisson | 0) | T8
175 | A collection of related web pages is called .
(A) www ‘ (B) ‘ Web portal ‘ ‘ Web site ‘ (D) Web server
176 | Computer based weather forecasting depends on accurate collection of data from.
(A) Radar ‘ (B) ‘ Antema ‘ ‘ Weather station ‘ (D) ‘ Television
177 | The transmission rate of modem can be measured in.
m Bits per second (B) Chagzi‘;enr; per (C) Bytes per second (D) ‘ Words per secors-]| —
178 | Software can be removed / installed through . = s i _P_
Jm Control Panel ‘ (B) ‘ Recycle Bin ‘-(C‘)l __El_]&tirn_eris_j (5) T » Vo iputers
179 is one of the most frequently-used pac,l ag(v'I Wl ahy ol g.'nl ftI_Gn_ |
(A) | Language processmf' LELL Word pr ocess ng |(C) —I err;;:s;rl]r:gCE =1 (D) pcr:acr:‘scstii:g
180 | Asignalisa rep‘i:gnga_lgq of . L _-_“_ AN -
|ﬂl Light wave| Pi(BLT_F ) Lat wave ‘ (C) ‘ Sun wave (D) Full wave
181 _T_h_e_ umhor ofa sgumesntin SdRT(
I_TH I\ | 'uné' (B) Equal to Range (C) Two (D) Equ;;lJ:quLumn
~182 | Which of the following can be used to check the spelling in MS Word?
(A) Ctrl + F3 (e) F7 | () | Alt + F3 | (D) |  ctrl + Shift + F3
183 | CPU includes all of the components except .
Jm Primary storage ‘ (B) ‘ Control unit ‘ (C) ‘ ALU ‘ (D) Register
184 | Temporary storage Area with in CPU is called .
Jm Register ‘ (B) ‘ ROMS ‘ (C) ‘ RAM (D) None of these
185 | The format of email address is .




20 DAYS SUCCESS FORMUAL 2024

COMPUTER 11

Username#DNS- Username@DNS- Username & DNS- Username S DNS-
(A) Address @ Address (©) Address (D) Address
186 | A computer drives its basic strength from :
(A) Speed ‘ (B) ‘ Memory ‘ (C) ‘ Accuracy ‘ m All of above -
187 | Copying data from internet to computer is called . s = i _ LV
m Downloading ‘ (B) ‘ Downsizing 19) ‘ _L:lr"_’adi,__ I (l") j Tr‘«:ﬁ-.,.‘c_rring
188 | A Connection for similar network uses . - LA v N T
(A) NIC ‘ (B) ‘ Bridger T | _|lC)_'|_ (wcte vay- | | (D) Router
189 | Soft copy referza.| \ AW
m Screen outr::_"_ﬂﬁ‘_'_—' ) W _T T "Cﬂ ‘ Peripheral devices D None of these
=y S BT\ ) \OCR, [19) P (D)
190 | An Arrangement! ir, which data calt kb received and simultaneously is called.
(A) | -~ % }Jf-j,_'ll_eg___ —!—(B) | - Half Puplix ‘ ‘ Full deplex ‘ (D) ‘ Semi Duplix
ig 1 l e reltikal dimension of spread sheet is called .
" ('\) Field ‘ (B) ‘ Record ‘ (C) ‘ Row ‘ m ‘ Column
[ 192 | Which of the following is a word processor ?
(A) Adobe Acrobat ‘ (B) ‘ Photo Express ‘ (C) ‘ MS Excel m MS Word
193 | Which is not an antivirus program ?
(A) Noters ‘ @ ‘ Redlof (C) Dr. Salman (D) McAfee
194 | Terminalis a.
(A) Device to give power 8) ::;2:;2:‘;2;2:?&2 (©) Thg last instruction m Any input‘/output
supply to computer computer in a program device
195 | Which is harmful for computer ?
(A) Antivirus ‘ @ ‘ Virus ‘ (C) ‘ Free ware (D) Share ware
196 | In 32 - bit IP addressing scheme , the value of address ranging from .
(A) 0to031 | (8) | 0to0 127 o | 0to 255 (D) Unlimited
197 | Data communication requires only .
(A) Sender ‘ (B) ‘ Receiver ‘ (C) Medium @ All of these
198 | Whichis a storage device ?
(A) CPU | (8) | Clock | Floppy (D) Bus
199 | Adding the text on top margin of the page in word processor we use,
Jm Header (B) Headnotes (C) Footer (D) Footnotes
200 | FDDIis a: o reesait
Jm Ring network (B) Star network (C) Mesh netwerk, gy 1! BL:.S.IHE}}AD-.;J<.._
201 | Which media can be used for backup ? _ L AN i o~ "
(A) RAM | (8) | —om ' e ) Vierul | (R Hard Drive
202 | The length of IP adt_lress is AV __—l_ = =)
(A) 8 bits ~ O nebits, |\ A 32 bits (D) 64 bits
203 | The distance be-t\n.e=n eacn I ne of pavag*ap" and margins is called.
|ﬂl | Irdep s__ A L( 1) T ' Tine spasing ‘ (C) ‘ Paragraph spacing ‘ (D) ‘ Alignment
i 2_()4l _lrje_ |=|._1|_| ﬂ\_m fizloo; format assigned to a cell is .
4 |_—r" .. Carrency ‘ (B) ‘ Number ‘ (€) ‘ Text ’ @ ‘ General
"' 1263 | Which of the following protocol is used to access web pages on world wide web.
(A) TCP/IP (8) | Gopher @ | HTTP | (D) | HTML
206 | Aninternet software that is used for transferring files from one computer to another .
@ FTP | (8) | ELD | (0) | Token | (D) |  Ethernet
207 | A computer can be linked to the internet through :
(A) | A phone-line modem ‘ (B) ‘ DSL ‘ (C) ‘ Cable modem ‘ m ‘ All
220 | The actual working area in Microsoft Excel is :

— j- -
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Note of the
(A) Workbook @ Worksheet (C) Spreadsheet (D) above
221 | Which shortcut key is used for making the character bold ?
(A) Alt + B I=l CTRL+B | (0) | Shift + B | (D) | Alt+C_
222 | Which one connects two similar networks segments ? K _ Y 4 _ LV
(A) Router ‘ @ ‘ Bridge “9) ‘ _Gatzways, M| _(D_)A'_ e KaGé
223 | Which is communication device? BRI AR IR AR LA~
(A) Router | (8) | Cuse ) C g L) Ve o) Ethernet
224 | In MS - Excel , f.;'rnﬂa begirs yatri, | _ REYE— ~
(A) > A\ e OV SN T | - (D) --
225 | Which of the foilowsingli not! Antr rirus program ?
(A | - Newz2 | (e or.paman [ (q) | McAfee @ |  Logicbomb
2€ l F.coram 5 syntax errors are detected by .
[ ('\) "~ Tester ‘ @ ‘ Interpreter ‘ (€) ‘ Loader ‘ (D) Debugger
| 227 | The benefit of CAD may be summed up as.
(A) Accuracy (B) Speoe;ipizjjciﬁlﬁllltv (C) Repeatability m All of these
228 | Additional copy of our data is called .
Forwarding of
Jm Backup of data (B) Taking of data (C) Moving of data (D) data
229 | What is the most common computer crime of these listed below :
Extortion of bank IRS database Putting people on .
(A) funds (8) sabotage (0 junk rrgu:)iling lists (D) Software piracy
230 | The process of converting a digital signal to an analog signal is called.
Jm Modulation ‘ (B) ‘ Demodulation ‘ (C) ‘ Conversion ‘ (D) ‘ Merging
231 | Default name of first sheet in any work book is .
(A) One ‘ @ ‘ Sheet 1 ‘ (C) ‘ Sheet one ‘ (D) ‘ First Sheet

232 | Which of the following services are provided by internet ?

(A) WWW | (8) | FTP | () | E-mail | (D) |

233 | Which of the following is an example of System Software ?

(A) Spread - sheet @ ‘ Operating System ‘ (C) ‘ Text editor | (D) ‘ MS - Word
234 | How many bits are carried by one line of data bus ? -
N 1 [ 8) | 2 (€) 3 (D) | 4 . o2
235 | One Mega Byte (1 MB e S rad (01
(A) 1K8 [ B) | 100 kB B weaaxes N |(Bi]) | atskyies
236 | Start and stops Bits are not required in thesj 2 t\ pes ot troi \smls ‘E'Q A _ _ N
(A) Asynchronous ‘ (B) ‘ Iso- sYI ch"u nu / jiL Sy ¢hron! had | (D) ‘ Monochronous
237 | Signals produced, Ly ( ompu*nr_cpiﬂl OVt eleph.cme e l'nu:‘& ve converted t(;
(A) Modem = __T_'B_}_J____ E"_r a_IS_Gn O [@ ‘ Analog Signals | (D) | Microwave
238 | How man!\fﬂsﬂfts c.JEJ‘EI\tJII < in a workbook by default ?
B el L e 4 @] 5 [ (o) ] 6
REE |—'J.'—'=.=-..'= | | "~Character are represented by Unicode Scheme.
A 45536 3| 65536 | () | 55536 | (D) | 75536
240 | Most of the computer crimes are committed by .
(A) Insiders (B) Pr((:)(;:;?’:::(;rs (C) Outsiders m Computer Experts

241 | Data communication requires only a :

Transmission
(A) Sender (B) Receiver (C) Medium @ All of the above

242 | The function that is used to get the maximum value in MS - Excel is called .
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Jm MAX ‘ (B) ‘ HIGHEST (C) GREATER (D) MAXIMUM

243 | CBT stands for.
Computer Based Computer Based Certificate Based Computer Basic

(A) IOTrade @ 'IF')raining (©) Training (D) T?’ainini e
244 | Which of the following is not a type of BUS ? I [N e BRI
(A) System Bus ‘ (B) ‘ Data Bus £5) ‘ A EMLSSL*_ I EA "\n.c--.sua
245 | Word processing software are used to creat e; AR IR Y
(A) Newspapers ‘ (B) ‘ INagazisesd | _l_(C)_ [0 ettt ard. @ ‘ All of these
246 | Which layer in SSiimbadel dmc_uziw_."(megwg R
(A) Session |BYH___-|jE 1y Pries¢ritaiion layer i 10) ‘ Network layer | (D) Physical layer
247 | Imaging uses what cevi co_t')_mput dita.

Jm ______ S caver L —!— \bJ | - Icon ‘ (C) ‘ Bar code reader ‘ (D) Tablet

_z‘_llf' |_!£h_u hisact included in document management system ?

[ (A Word processing ‘ (B) ‘ Desktop Publishing ‘ (C) ‘ Reprographic m E - Shopping
249 | Which one is storage device ?

Jm Magnetic ‘ (B) ‘ Printer ‘ (C) ‘ Keyboard (D) Camera
250 | Web pages are connected to one another using.

m Hyperlinks ‘ (B) ‘ Interlink ‘ (C) ‘ HTTP | (D) ‘ Multimedia
251 | Which component is used to connect different part of the computer together ?

m Bus interconnection ‘ (B) ‘ Main Memory ‘ (C) ‘ Control Unit | (D) ‘ None of these
252 | Which of the following can be used to launch the Word Art.

(A) Status bar ‘ (B) ‘ Standard toolbar ‘ (C) ‘ Ruler | m ‘ Drawing toolbar
253 | Which of the following keyboard shortcuts is used to change the case ?

(A) Ctrl + F3 O | Shift + F3 | () | Alt + F3 (D) | Ctrl + Shift + F3
254 | Each computer on a network is called .

Jm Node ‘ (B) ‘ Bus ‘ (C) ‘ Termination (D) Point
255 | Computer cannot boot if it does not have.

(A) Computer ‘ (B) ‘ Linker ‘ (C) ‘ Interpreter @ Operating System
256 | CPU sends command signals through

(A) Data Bus ‘ (B) ‘ Address Bus ‘ ‘ Control Bus (D) Expansion Bus
257 | Computer at home can be used.

Jm Keeping records ‘ (B) ‘ Watching Movies (C) Making budgets (D) All of these_.._
258 | A computer virusisa. RN~ a1
(A) Disease ‘ @ ‘ Software (€) Hard\ “rg By _(xlﬁj:_ _\__Bactgra
259 | BIT stands for b b e D A,

(A) Binary Integer (B) Bma_r/_lnt_pr_\.,_.__|-_-kmjr'__gn_1ﬂ imt__ (D) None of these
260 | Folder.httisa @rf& . ~ Y, | | 2 AN
(lic cso A e | Microsoft Zi Microsoft
(A) Microsoft offi i_ | E ‘ Deslf_tlm_femure ‘ © Software i (D) Antivirus Features
261 Awgid__ag! is 2 go_up of L -
(A I "lu wL | @ ‘ Sheets ‘ (C) Formulas (D) Functions
_:'._J_;I_Jr T hé -omputers on internet that contains websites are called .
a (K] Central computers ‘ (B) ‘ Clients ‘ (C) ‘ Site computer ’ @ ‘ Web servers
263 | Which component of CPU is responsible for interacting with primary memory ?
(A) ALU ‘ @ ‘ Control Unit ‘ (C) ‘ Bus ‘ (D) ‘ Register
264 | Who is responsible for security of online data ?
Internet service Organization
(A) User (B) LAN administrator (C) privider (D) | obtaining the data
265 | Pressing and releasing the left mouse button quickly is called .
Jm Left click ‘ (B) ‘ Dropping ‘ (C) ‘ Pointing ‘ (D) ‘ Dragging

10
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266 | MaAfee is an example of .
(A) Hacker ‘ (B) ‘ Worm ‘ (C) Virus @ Antivirus
267 | All are general purpose registers except?
(A) EBX | (8) | Ecx (©) EDX (D) EEx— [
268 | GUI stands for . - [€ i
General User Graphical User VY }_(r_m_ﬂrlﬁs;ge—
(A) Interface @ Interfacq” R (o) '_“‘ﬂ'ﬂﬁﬂu_siw‘ﬂ‘s_ ()" Interface
269 | Register that collect the result of comjiutzticns a -E’ﬂhi ALY ’ |
(A) Instruction peirtér J_(B) | ~Sterage-Regisier| | [ L) | Segment ‘ (D) ‘ Accumulator
270 | An |dent|f|cat|o-_lg'ﬂ19n_n me rltif_u_h eze Gata'are Kept is called .
(A) Space | ii‘?i—(_ﬁ \_Aaress ‘ (C) ‘ Location ‘ m Cell
271 _C_t=!-_rjr_1 124ided mepia-rom the following
] '(_lpl_l Vi -_.Tws-eu pair . ‘ (B) ‘ Coaxial ‘ (C) ‘ Fiber optic | m Satellite
[ 272 | “ihe electronic circuits of computer system are called .
. (A) Software ‘ @ ‘ Hardware ‘ (C) ‘ Firmware (D) Shareware
273 | Internet surfing is an example of .
(A) Simplex mode ‘ @ ‘ Half Duplex Mode ‘ (C) ‘ Duplex Made (D) Triplex
274 | All physical media deals within .
(A) Application layer ‘ (B) ‘ Transport layer ‘ (C) ‘ Presentation layer m Physical layer
275 | The flow control and error control are the responsibility of .
(A) Transport layer ‘ (B) ‘ Network layer ‘ ‘ Data link layer ‘ (D) ‘ Physical layer
276 | Data can be erased using ultravoilet rays written on .
(A) RAM | (8) | EROM o | EPROM | (D) EEPROM
277 | Which of the following is an E-Mail client :
(A) Internet explorer @ ‘ Outlook express ‘ (C) ‘ Google | (D) None of above
278 | Which of the following device use the parallel transmission ?
(A) Baseband @ ‘ Broadband ‘ (C) ‘ Bandwidth | (D) ‘ Topology
279 | An Automated teller machine can be used for .
(A) Keeping records ‘ (B) ‘ Making budgets ‘ (C) ‘ Watching Movies | @ ‘ Withdraw Cash
280 | Which of the following is the most devastating loss to a computer ?
(A) Loss of hardware ‘ (B) ‘ Loss of software ‘ ‘ Loss of data (D) | Loss of printouts
281 | The devices that receives data . T
(A) Source ‘ (8) ‘ Sink ‘ (€) ‘ Transmitter | (B[, R J_._T 4
282 | Many industries are designing products by using. ) | A e . .
o CAD [ (8) ] Robot — | € = T \lcam | T Am
283 | Sparco department gives information_ﬁhog{_‘i i __ EREIERTRE N,
(A) Robot _ ‘ (B) ‘ Chatting | |\ |, (t_)T . —Aifline - @ Weather
284 | CAT stands for- _j.__-_ ______1\ | N
Computerised Axiay |, Ciymipluts Ir Aided Computer Axial
IEI jl'_oEu_g@ )h_y __L(n) : Topography (C) Topography (D) None of these
28 _‘A‘ﬁgﬁ‘i"; theinteinet ?
‘_f_r)l_;l IS government ‘ (B) ‘ United Nations ‘ (C) Pak telecom @ None of these
286 is the fastest communication mode.
(A) Half Duplex ‘ (B) ‘ Simplex ‘ ‘ Full Duplex ‘ (D) ‘ Suplex
287 | The cell range from A3 to G3 should be written as.
(A) A3-G3 N=l A3 :G3 | (0) | A3, G3 | (D) | A3.G3
289 | During transmission the contents of the data are changed by using technique .
(A) Changing ‘ @ ‘ Encryption (C) Biometric (D) Private data

290 | The RAM stands for .

11
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Random Access Reading Available Road Access Random Access

Jm Memory (B) Memory (C) Memory (D) Mode
291 | Many industries are designing products by using .

n CAD | (8) | Robot | (0) | CAM | (D) | ATM__
292 | This is the physical path over which a message travel : N = __ ______
(A) Protocol ‘ @ ‘ Medium “9) ‘ _ SHEIENS, N -I'_(l'ﬂi._n!'_ﬂf.t.-e disove
293 | Alifiles that are deleted from computer are stc redini. |0 0 L s
(A) My document ‘ (B) ‘ Reciclesia | _l_(C_ I\ Pr rites p\" 1 (D) ‘ Desktop
294 | Adiscussion grouk t_c exchangs m_mlnﬂnﬂkis_le nge ahdc mputer is called .

(A) E- commer-_: B _ET_‘ B ﬁo_'\ﬁzggp ~ 119 ‘ FTP | (D) ‘ Chatting
295 | Which Component cf computer is'relponsible for comparmg the contents of two pieces of data ?
Jm ____-__J_/‘._.L_L:l____ —!—\B; | Control Unit ‘ (C) Memory (D) None of these
2_:; ' Usee \Ily FIAM has types .

it 2 | (8) | 3 | (0) 4 (D) 5
297 | Which of the following device uses the parallel transmission ?

(A) Mouse ‘ (B) ‘ Keyboard ‘ Printer (D) Light Pen
298 | Collection of 4 bits is called .

(A) Byte | (8) | 1KB | (c) 1MB (D) Nibble
299 | Which One is not a type of ROM ?

(A) PROM | (8) | EPROM @ | FROM (D) EEPROM
300 | Another name for email program is .

(A) Internet Explorer ‘ (B) ‘ Mail server ‘ E-mail Client (D) Web Client
301 | Example of numeric datais .

(A) 5.2 | (8) | 6.4 | (c) 3456 B | Allofthese
302 | The right to use the software on the computer is called.

Jm Software copyright ‘ (B) ‘ Software Piracy ‘ (C) ‘ Site license ‘ (D) ‘ Software Privacy

303 | The topology used for a small number of computers is called .
(A) Star ‘ @ ‘ Bus ‘ (C) ‘ Mesh ‘ (D) ‘ Ring
304 | In Microsoft Windows files are recognized through their.
(A) Name ‘ @ ‘ Extension ‘ (C) ‘ Size (D) Type
305 | Typically, an ATM can be used to.
(A) Keep records ‘ @ ‘ With draw Money ‘ (C) ‘ Make budgets (D) Watch Moviis._,» oy
306 | Layer that is responsible for transferring frames in OSI model is . N o _'_ h _ _'
(A) Application layer ‘ (B) ‘ Presentation layer ‘ @ ‘ Data Im' lai 'er Il?_;f__gs o ave! .
307 | A Program that detects the viruses is called —, . d-_-___ ) AN e
(A) Virus ‘ (B) ‘ Ur_c"u_pw_nr_'f*i _.-_|._-Lm | _ _'-__Al_"w‘@ir_ﬁs'-._ | (D) ‘ Shareware
308 | Which CPU registesiiold the ad=ass of, of next insiructiol tu e e: secuted? .
_,»__| —~ 17 ~Ménm 0B for | L1 Memory address Program Counter
(A) Instruction Regjist g;B) ‘ T:SEEI: iter ‘ (C) register @ register
309 | Whatis st EN_gpclug\, e
(A _.'_. 1™ lff’_r_ | (B) ‘ Ring ‘ (C) Bus @ Band
g Ario<her word for pointer.
" (A} Monochrome ‘ (B) ‘ Pixel ‘ Cursor (D) None of these
311 | When creating MS Word document the default name of Document is.
(A) File ‘ @ ‘ Document ‘ (C) ‘ Word ‘ (D) ‘ Doc
312 | Most Application of robotics are in which area?
(A) Cooking ‘ (B) ‘ Teaching ‘ ‘ Manufacturing ‘ (D) ‘ Farming
313 | Physical path that connects the source and receiver known as.
Communication
Jm channel (B) Declare (C) Ancoder (D) Self Testing

12
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314 | Which of the following is a word processor ?
Jm MS Word (B) ‘ MS Excel (C) MS Access (D) MS Power Point
315 | BIT stands for.
(A) Binary integer ‘ (B) ‘ Binary (C) Binary Digit (D) None of tie T€ e__'_l
316 | Anoperating systemisa. [~ i
. ApgHication, . D\l — |
(A) System unit (B) System Softwaie !31 -___‘»«_Ift_\;@’e___ (2) !-'Software Package
317 | Devices which are automatically de‘ected-Lywiniows arz2called .
Plug and pl= | AR\ LS )
m devices _'___(E)i Serial ¢ u avicay | (C) | Automatic Devices | (D) Installed devices
318 | Which of the fo. Iow ng reinyry, n_'=etla *5 be refreshed periodically ?
B | ooRe | REEE SRAM [ (©) ] FRAM [ (D) ] ROM
_3;F" [ UEM >_l\,_ur1 tize data that is being copied or moved is.
; ' Permanently
: Temporarily stored Permanently stored Temporarily stored stored in
(A) in Recycle in (B) in Recycle bin (C) in Clipboard (D) Clipboard
320 | The data and program are stored permanently on the .
(A) RAM ‘ (B) ‘ CPU ‘ ‘ Secondary storage | (D) ‘ Primary storage
321 | The step that performs the actions given in the instruction is called.
(A) Fetch ‘ (B) ‘ Decode ‘ (C) ‘ Calculator | (D) ‘ Execute
322 | By default, windows save the documents created in MS - Word in the folder .
Windows
Jm My documents (B) My computer (C) Recycle bin (D) Explorer
323 | What percent of PCs in the world might have word processor installed
(A) 10 | (8) | 50 | (0) | 80 ol 90
324 | Microwave transmission , coaxial cables are fiber optics are examples .
(A) Modems ‘ @ ‘ Communication links ‘ (C) ‘ Gateways | (D) ‘ Ring network
325 | The USA Defense Department initiated a small computer network called ARPA in .
@ 1969 | (8) | 1976 | () | 1978 | (D) | 1980
326 | A secret word or numbers to be typed in on a keyboard before any activity can take place are called :
(A) Biometric data ‘ (B) ‘ Data encryption (C) Password (D) Private word
327 | Which one is a signal?
(A) 1/0 | (8) | DMA (C) Interrupt (D) Memory
328 | Which of the following was a Wide Area Network ( WAN Tl S AN |
o ARPANET [ (8) | ARPA [ 1) | 157 I (r)ﬁ et
329 | Which of the following is not an example of sy ;tem sufip&*i_ __'.._ L
ﬂ MS -Word ‘ (B) ‘ Ope a_tn_gi,:igtrl [ _\er e Del /_l*edr velr i (D) Utility Program
330 | 3 Bytesis equaltoi IR AR
(A) 16 bits — | _|_'('5f Mol \oges '- @" 24 bits (D) 30 bits
331 | Trojan Horse is . n/an ' ]
(A) | _ ¥ An_*n_/ps ' J | Virus (C) Business Software | (D) Hardware
-3z 2”_-]_,5 _\Jus tHaz Lepucates itself is called a :
LLJSI Bug ‘ (8) ‘ Worm ‘ (€) ‘ Vaccine ’ (D) Bomb
333 | The workgroup computing is also called
Collaborative
(A) Groupware @ computing (C) Workgroup (D) Parallel
334 | Under MS-DOS, a user communicates with the operating system by using.
Jm Commands ‘ (B) ‘ Instruction ‘ (C) ‘ Routines (D) Procedure
335 | How many bits are in one byte ?
(A) 2 ks 8 | (0) | 10 (D) 12

13
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348 | The idea of sharing a program in memory was given by .
ﬂ John Von Neuman ‘ (B) ‘ Dr . Abdul Salam ‘ (C) ‘ Dr . Abdul Qadir (D) Pascal
349 | A set of instructions of computer are .
(A) Hardware ‘ (B) ‘ Documents ‘ (C) ‘ CPU E’ Softwaie-, | |
350 | Graphic representation of datain named. [{_~% { A"
(A) Graphics ‘ (B) ‘ Picture ‘ El el i‘ft_g | _('3)3: B Fgure
351 | Testing All Modules of Programs together is'called . | | BT T . T
(A) Volume Testing ‘ (B) ‘ Comlwgg(iitlg__”L|_ P; rogrem Téaung m System Testing
352 | FormatCisan examr.le of. LT AN -
(A) Antivirus 1 | _’B_)' L ) Legic pomb | Trojan Horse (D) Redlof
353 | Smallest un:; o_fm_e[\ow is., |
(A) [ Bl TLEJ | Bit ‘ (C) Character (D) Word
Il _L. —l_ I “memisry location is to be read , CPU places address in.
) MAR | (8) | PC | (0) | MBR | (D) |  Accumulator
355 | Which of the following is a correct column address ?
(A) AA | (8) | 25 | () | 3B Jio) cs
356 | Information technology is a combination of
Computing and Computing and Computing and Computing and
mechanical mechatronics communication electrical
(A) technology (B) technology (C) technology (D) technology
357 | A word processor can be used to.
(A) Write Text | (8) Edit Text (€) Print Text (D) All of these
358 | PTCLisa.
(A) Internet ‘ @ ISP (C) Web browser (D) Search engine
359 | Which CPU register holds the address of next instruction to be executed .
Memory address Memory Buffer Program Counter
(A) Instruction Register | (B) register (C) Register @ register
360 | ALU has Units .
n 2 | (8) | 3 (©) 4 (D) 5
361 | Anoperating systemisa:
(A) System utility ‘ (B) ‘ Application software ‘ System software (D) | Software package
362 | Which is the following protocol is used to access web pages on world wide web ?
(A) TCP/IP | (8) | Gopher () HTTP \ (D)1 HIME | ()
363 | BIT stands for. . ik 1! {i -_
(A) Binary tree ‘ @ ‘ Binary digit E\_ L ﬂ’l_]ﬂ :tge_' (J) i ) 3 r\afy .nterval
364 | The microphone converts the sounc-into. ___; mE __|_._ ] +
(A) Mechanical signals ‘ (B) ‘ Cgmgﬁrﬂ_e___é Jﬁ]:l Elecires S|gnal L-| (D) Software
385 | A standard IP adthes, i ramprfeggf_ . A '
(A) 4- bit erl| | 15-bis—— [ [ . \ 32 - bits (D) 64 - bits
386 | The promsr Df p-TO(’-lLJCIH& mulr-ple copies of a document is called .
i m _____ IE Ujgg_a oliis (B) ‘ Word ‘ (C) ‘ Spread Sheet ‘ (D) ‘ Image
| __ 3% 'T ha )reaentatlon of data entered in the worksheet in a visual format is called .
(A; Graphics ‘ (B) ‘ Picture (C) Header & Footer @ Chart
388 | CBT stands for.
Computer Based Certificate Based Computer Based
(A) Trade (B) Training (C) Training (D) None of these
389 | Communication between computer and keyboard involves.
Jm Simplex ‘ (B) ‘ Half Duplex (C) Full duplix (D) None of these
390 | Which one is fastest ?
(A) RAM | (8) | Cashe (€) Hard Disk (D) Register
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391 | Aset of instructions that run the computer are :
(A) hardware ‘ (B) ‘ document ‘ (€) ‘ CPUs ‘ @ ‘ software
392 | Data and programs not being used by computer are store in :
m secondary storage ‘ (B) ‘ cache ‘ (C) ‘ primary storage | (D) | printe
393 | Communication channels can be divided into . Y
(A) Two types ‘ (B) ‘ Three types ‘ &)l _—Taur T_VD_ES_ | (J) | H\.:ypes
E How many types of addressing scheme are ? - IBAR LB
(A) 2 e ] ADFIRTE YRy (D) 5
395 | CPUis also called. ~ 3 S l : '
(A) ALU ) __T_’B_} Ty I cy - | @ Processor (D) BUS
396 | Which is awiprd _pr_nco.s.on ?
ﬂ Oy NS wecrg! i (B) | MS-Excel ‘ (C) ‘ Photoshop (D) MS-Power Point
Il _L. —l_ {1 L Mucic and speech represent data .
1A Images ‘ (B) ‘ Text ‘ (C) ‘ Numeric m Audio
398 | The top most layer of OSI Model is .
(A) Session ‘ (B) ‘ Transport ‘ (C) ‘ Presentation m Application
399 | The secret word or number to be typed keyboard before an activity can take place is called .
(A) Biocham ‘ (B) ‘ Backup ‘ ‘ Password | (D) ‘ PC
400 | A communication signal in the form of continuous wave called .
(A) Digital ‘ (B) ‘ Modulation ‘ ‘ Analog (D) None of these
401 | Avirus that replicates itself is called.
(A) Buy ‘ (B) ‘ Vaccine ‘ ‘ Worm (D) Bomb
402 | The maximum number of primary partitions that can be created on disk is :
None of the
(A) Two (B) Three (C) Four (D) above
403 | The Example of antivirus is .
Jm McAfee ‘ (B) ‘ Trojan Horse ‘ (C) Worm (D) Logic Bomb
404 | The size of segment register is .
(A) 1 byte ‘ @ ‘ 2 bytes ‘ (C) ‘ 4 bytes (D) 8 bytes
405 | Which type of Network is the internet ?
(A) LAN | (8) | MAN o | WAN | (D) BothB &C
406 | The step that performs the actions given in the instruction is called . ]
(A) Fetch ‘ (B) ‘ Calculator ‘ (C) ‘ Decode | @ i_ Fiaei J_*c:_.__ M
407 | Another name for antivirus is 5 ,. ,'Ix 1
ﬂ Vaccine ‘ (B) ‘ Worm —, ‘ (C d__ﬂcilar h )rs_ﬁ_ ' LT :—'.*_ "~ "BES
408 | The electromagnetlc or light waves tﬂnt_re_n('ti‘r_\* _d:_*a_c.n =_ AW _'- _-_ A
(A) Pulse _ ‘ (B) ‘ Inforpation [\ (t_)T ~—Waves ' ’ @ ‘ Signal
416 | A device that L'\-gn_rﬂgs_mu'*eplcle_tgor[ ﬂlging siiniiar-or different protocol is .
ﬂ Router R (B) —L _E'.age - ‘ (C) Gateway (D) Repeater
417 CIiT_ijjy\._agLs‘s_eqm :
_EJ‘F'_.J__I_-_ | LOIL [cotion ‘ (B) ‘ Industry ‘ (C) E. Commerce (D) Business
}_'-_.‘; j' " Jhé&Bottom layer of OSI model is .
(A) Application ‘ @ ‘ Physical ‘ (C) ‘ Transport (D) Presentation
419 | Physical path that connects the source and receiver known as .
m Comcr;\::;cealtlon (B) Encoder (C) Declare (D) Self Testing
420 | The Out put of Computer is.
(A) Program ‘ (B) ‘ Source code ‘ (C) Linked Code @ Object Code
421 | Process of automating office tasks using computer is .
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(A) Office Support ‘ @ ‘ Office Automation ‘ (C) Data Management | (D) Reprographics
435 | Short cut key for paste is.
(A) Ctrl +C | (8) | Ctrl + A | Ctrl +V (D) Ctrl + P
438 | Page Setup Option is available in which menu. et 8
(A) Format ‘ (B) ‘ Insert ‘ (C) ‘ Edit J_ﬁ_d _ﬂ‘__!__ ARl
439 | The program that contains instructions to operate a ng'lc_g |s_t:=_hxa_a__ A N - e
Jm Device driver ‘ (B) ‘ Device opetater C)_ _-_D_ev_cglikig_ _I (D) g Device System
440 | Terminators are used in topnl_og_y;_'_ R L
(A) sus (| [ st | e Ring [ (D) Mesh
441 | Which commuriicetior inefil |m requites; Iwew.-alght ?
m Microyiave _-_1(3) T Fiber optic ‘ (C) ‘ Twisted part | (D) ‘ Coaxial
442 | 7 1( ' oflwrare whick isaeveloped for particular customer is called .
| !;l)' I\ : Package (B) System (C) Shareware m C:;‘;x;zd
[ 443 | A right of a person to keep his personal information away from the unauthorized access is called .
(A) Piracy ‘ @ ‘ Privacy ‘ (C) ‘ Personal issue ‘ (D) ‘ Assets
444 | The Defense Department established a small computer network .
(A) Russia ‘ @ ‘ USA ‘ (C) ‘ China | (D) ‘ Japan
445 | By default, windows save the documents created in MS Word in the folder .
Windows
Jm My document (B) My Computer (C) Recycle bin (D) Explorer
446 | Which is a storage device ?
o Floppy | (8) | CPU | (c) Clock (D) BUS
447 | Communication between a computer and a keyboard involves transmission.
Jm Simplex ‘ (B) ‘ Full duplex ‘ (C) ‘ Half duplex ‘ (D) ‘ Automatic
448 | Which of the following is used to find information on world wide web?
(A) Web Browser (B) ‘ Web Site ‘ Search Engine (D) Web Server
449 | A LAN is combination of:
(A) Netw‘;;krjfapter (B) LAN cables (€) LANSSESJ::’:'O” B | ABofabove
450 | Many Products are designed by using.
o CAD | (8) | Robot | (0) | CAM (D) ATM
451 | An input device, which is used for playing computer games. ) L :.__
(A) Light Pen ‘ (B) ‘ Mouse (C) Joy Stick ;__-_I_I'ﬂ)'_!.— -"._lﬂ‘ )i__
452 | MICR stands for. ] Al =T~ aNN _ﬂ:_ o
Magic in Character Magnetic Ink/ L IMignetid Inic ™ cuill
(A) ° Redo @ Chalac erd \rcd_er_"__c)_L (._ho,raiiﬁr e’ c.de ) (D) None of these
453 | An additional rum o your, c'fclc-:_u_cr_. stisraze mef.era r- .aII Bt
Jm Backup of d==a, E_T_".B_}_E_'._Hlil_rﬁé_da A | (C) ‘ Set of data (D) | Transfering Data
454 | The standar_dﬂat_uc-ol ¢ tlnE:rr elic!
A | Tep. ) \iey| PAddress | ()] 1P Protocol (D) TCP/IP
at E|_J w..} ich s also caIIed secondary storage ?
'.'i'_ (A) RAM ‘ (B) ‘ ROM ‘ ‘ Hard Disk ’ (D) Primary Storage
459 | Which operation is not performed by computers ?
(A) Inputting ‘ (B) ‘ Processing ‘ (C) ‘ Controlling ’ @ ‘ Understanding
460 | Header and footer option can be used from which menu ?
(A) Tools ‘ (B) ‘ Insert ‘ (C) ‘ Edit @ View
473 | Interface used DOS is called .
Command line Menu driven Graphical User
m interface (8) interface (©) Irr:terface (D) | Design Interface
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474 | Smallest unit of computer memory is called .
Jm Bit ‘ (B) ‘ Byte ‘ (C) ‘ Nibble ‘ (D) ‘ Binary interval
475 | Which virus executes when starting the computer ?
m Boot sector ‘ (B) ‘ Logic bomb ‘ (C) ‘ Trojan horse | (D). | Redled—. |
476 | One or more computers connected to a hub are . EIERLYFAR]
(A) Ring network ‘ (B) ‘ Bus network ‘ﬂl __“:[jeiw_c,n_ | (J)f| _Mesinetwork
477 | Software that is used to view and se=rch pages oninterretiy. | ) '\ .
(A) Web server @ Wiz Eb_ra_vi‘r___l_(’l)_t P_\V shhite— | (D) Web pages
478 | Memory manggen ertisfunctioncf| “ 5 ) L - '
(A) Application sofiwéie | 'Bj, L | _'Device\Drivey | . ‘ Utility program (D) | Operating System
479 | Anink jet printer is &n 2raraple of a(n
:_ _._____ - Non impact
] (_lp;_l [ [+ Lasel printer (B) Impact printer (C) COM printer m printer

'viruses are transferred from one computer to another due to .

Exchange data and

Exchange of High temperature

Jm program (B) Dust in room (C) displaying screen (D) of room
481 | Each computer on a computer network is called a .
(A) Link | (8) | Code o | Node | (D) | Mode
482 | Modern computer can perform calculations or process at high speed.
(A) Per second ‘ (B) ‘ Per minute ‘ (C) ‘ Nino second m None of these
483 | Extra segment register deals with .
(A) Stock Data ‘ (B) ‘ I/0O Units ‘ (C) ‘ Mathematical data m Variables
484 | Which of the following is not an output device ?
(A) Speaker ‘ (B) ‘ Printer ‘ (C) ‘ Plotter @ Scanner
485 | Clip board in MS-Word stores.
(A) Entered text ‘ (B) ‘ Deleted text ‘ ‘ Copied text (D) Repeated text

Subjective Part

Short Questions

1. Define arithmetic unit and logic unit of CPU. 2. Define the term information technology (IT).
3. Explain Global Village. 4. Describe Keyboard. 'x._
5. Define and explain IT. 6. Describe Pointing Devices; — _ _'7 _7F J___
7. Draw Computing Environment Diagram. 8. " Flow Mouse; warks_r _. __'_' i A VN
9. Describe Hardware Devices. . -, 10 Holw r?a—k Rall ;LTI(—? B
11. Describe Software CIaSS|f|cat|on | 12 De;?L:%_nmw__mgk )
13. Differentiate betwarn Hardwand & Sott w;E_—‘_‘.'—mTr\(_n,_am Touch Pad.
15. Differentiate bet_we:TF_ROh1 & nc_Ef’_R_Dq - _\ --16. Whatis computer hardware?
17. Describe thesse of (;:;w_cETs _____ 18. What is system software?
19, _[__‘::flm_s_l_f__;_b_u _____ 20. What is application software?
1[N E WWeiing bus interconnection? 22. Differentiate between data and information.
22. Write the name of different types of buses. 24. Compare system software with application software.
25. How does bus width affect data transfer? 26. Define utility programs.
27. Why I/O instructions are used? 28. What is the purpose of central processing unit?
29. What is DMA? Define it. 30. Differentiate between bit and byte.
31. What are interrupts? 32. List different components of SDLC.
33. Define I/O unit. 34. What do you mean by implementation?
35. Write tow advantages of interrupts. 36. State the purpose of data gathering.
37. How is data transferred from peripheral devices | 38. What is system? List different components of system.




